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3703(CE®! B[iE# SSL-65CE ¢ 12.7mm* 7&M| ~1442.490 m 4,840 6,981,652
3704|CER! BREREH SSL-65CE ¢ 12.7mm * T 54.000 F. N 5,080 - 274,320
3705(# A ILFryS 65CEF #1472 54.000 & 5,360 289,440
3706| Ny R F7H THZ— 65CEFH #1472 54.000 & 12,000 648,000
3707| 7 A—~vk 65CE @ 12.7mm * 724~ 54.000 3,370 181,980
3708{7HE 65CER ¢ 12.7mm 378.000 b 630 238,140
3709| 7 h—TFL—k (AvFE) 310% 310 *t38 ¢) 86 54.000 i 17,280 933,120
3710{BrfE+ ZO0a—kC 108.000 kg 850 91,800
37112 —)L (1k7K) #4 AIN—Y—=)LK 5.400 . 2,200 11,880
3712|TXF AT i3Fvb 65CE @ 12.7mm * 724 54.000 N 11,600 626,400
7012|5—T oL — B R [FiE st a2 | Sl 14.850 t 1,658 24,621
B K 4E84K Ll E 15,161,353
B i , 1.0 XHY 15,161,353
BHEOAFHEEDEEE 23,107
BifoAREHMFEOEEE 15,136,732
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7025 [Ru#e | BB EEE AN
31—} No | (&) ATy H2770vd {ERK HF
N.3F7UH—T EFEEER =&l 58 = &l 431 100 m2

B {fiNo | A h R s o = B {5 E i@ & %@ {iF =

8003[EU BT Avsr—UBilstESR|  100.000 m2 + 7,588 - 758,800

7007 |7—-F oL — EmRUFREE HENe1] | R 1.120 m3 - 4,523 5,066

5 BK:4E8 K LLE : 763,866

B i 1.0 m2354) - 7,639

HEORFHEEOREE 7,635

BElHORERHAEDOEEE 0
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7026 [Ri# BLGHEER A5
1-FNo | (i) Ao J09%5 FJo0uy 15 B
N27h—T EBEERR A 58 =5 431 100 m2

H {fiNo £ Lo il % = B B @ ® E )] *

8003| & 3 I Syr—CBifistEs®|  100.0000 m2 - 7,588 - 758,800

7013|r—F oL —EmR G MENh2] | K5 1.120 m3 - 3,980 . 4,458

&t B 4HE8RLELE 763,258

B {ih 1.0 m233Y) - 1,633

BEMOAFTHEEDEE 7,629

BlOAREHEORE 0
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7027 |32 2 —M21-8-25(20)= )| EIGREES A
“I-FNo | (1E1) ATy H+2770vH VERL BB {51
No.37h—T HBEEER = 58 = 431 1 m3

B {fliNo % 5 5 % B O E| B & B (& & % i *
8016|3271 —M21-8-25Q20) @) BT Avyr—UHlist S8 T 1.000 m3 . 28,760 - 28,760
7002|r—T oL —EmR [REs wEN ] (LLREIY S 1.000)  m3 © 3,143 - 3.143
5 BER 488k E - 31,903
B i 1.0 m3& L 31,903
HHORFTEEDOEE 11,708

HEilOARERHAHOEEE 19,909
BRE] _
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I-FNo | (1) A7 avy 770wy Rl L1
N27h—T EBEER EA 58 B 431 1 m3

E {fiNo 2 a3 i % 2 =2| E 4 8§ ® &2 {i& =

8016|2271 —k(21-8-2520) G {F) BT/ vy —CHiift E SR 1.000 m3 . 28,760 - 28,760

7008|7—T oL —r ERRIREsHHEN2) |LUEEIV Y-} 1.000 m3 . 2,793 2,793

it Bk 4E8R L E > 31,553

B {if 1.0 m3&Y - 31,553

BEORFEEEOEEE 11,390

BEliOAEEHEOEEE 19.909
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7029 32 5U—r18-8-40(F %) | -
1-FNo | (#&3E) , A8 +2770v% {ERR B fF
N.3F7h—T B BEES = & 58 &= 431 1 m3

H {fiNo 2 o iR e H E B 4 B i = % i &=

8017|3>4')—k18-8-40(F4F) BT/ Sur—U Rl ES R 1.000 m3 - 28,010 - 28,010

7002|r—I oL — @Rt wzEn] | LLEIL )Y -k 1.000 m3 - 3,143 3,143

5 B 488K E . 31,153

B i 1.0 m34 Y - 31,153

HBORHBEDEE 11,708

BEHONREHHAEOEEE 19,160/

ELE3
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7030 |22 51U —r(18-8-40(F %) | HILHEMREEE XF
1~k No | (#8:8&) A TOvs $770v9 {ERL {3
N.2Fh—T EFEEER . = A 58 T X 431 1 m3

B {fiNo & o iR il n 2 B B * & & =

8017|2>2')—118-8-40(F1F) B Avr—CHBlstESR 1.000 m3 - 28010 > 28,010

7008 |y —I Lo~ ElR [FEst NEN 2] | (LREIV Y- 1.000 m3- © 2,793 2,793

i WK 4E8KLLE - 30,803

B fli 1.0 m34Y) - 30,803

EEONGTHEDETE 11,390

19,160
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7031 |3 o) —HEIET HILFEHEHEE &F
marcTe. e 17097 $JJ0v5 {E BB fir
N.37h—T BHEEZS = &l 58 = &N 431 3.15 m3
H fliNo 2 b H iss #H E B ] % & fig =
7029|227 —M18-8-40(F4F)) [M37h—T EEBEEB| - 3150 m3 . 31,153 - 98,132
7025|E 4 ' : N37h—T EBELA| - 13.800 m2 - 7,639 105,418
6177| TS A2 bER{T - LHEXS ' - 3.300 m2 - 2555 8,432
5372| A AR EIEmE# (B |#ht-2y+ - 1.500 m2 508 - 762
B EK4EsARLLE 212,744
B i 1.0 m3&HL . - 67,538
HEONEBEOEE ' 46,069
HioRERHHEOEE 21,166
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7032 [2v 45 —hREIEET | ELEHERE XF
i Ne [ E) AM70vY Y¥o70v7 fERLE i
N2F72h—T #BEXRR =&l 58 _=5 431 28.98 m3
H {fiNo % 7 B -1 = | B [ B M ® £ i &
7030[0 51—k (18-8-40(FIF))  [Ne2P7oh—I ZBIEEB| - 28.980 m3 - 30,803 - 892,671
7026| B4 g N2 7oh—T EBiEgE|  126.960 m2 - 7,633 - 969,086
6177 TSR 2 A RER{T BBEEXR - 30.400] m2 > 2,555 - 77,672
5372 A DB HIE R (F) |#stet-reE+ 13.800] m2 - 508 ~ 7,010
at B 4E8 KL E 1,946,439
B {ih 1.0 m3&Y - 67,165
BEORFHEEDRE 45,726
‘ BiOAREHEORE 21,169
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7033 No.3 7> h— L ZEhR HILGFHEEE XE
1-FNo | (#8:&) AT 0vY P m {ER B L
EEFES = Al 58 =l 431 10
B {fiNo % R iR % B = B B (@ * % {i& =
7027(229')—Hk(21-8-25(20) (G 1F) |Ne.3 7 h— T EE{EES 28.500 m3 31,903 909,236
7025| B # No.37>h—T E@E{EES| - 582000 m2 7,639 444,590
7015|885 AT -$83T N37oh—T HEAEZE Dismm| * 799.200 kg 184 147,053
7017(8F MNT -$Aa7 N37oh—I E@BEEA Diamm| - 410.000 ke 205 84,050
7019|8k85 MO T -$HST Ne37oh—T EZBEZE DI0mm - 54.400 kg 204 11,098
560\ EIE{LE =—ILE(VU) FEFZ150 D165 X t5.1mm 7.000 m 1,060 7,420
6177| TSR A RER{ EEEXE 14.300 m2 2.555 - 36,537
7029[a91)—r(18-8-40(FF) [M37h—I EEHEEE - 1.400 m3 31,153 43614|X—2a 41—k
7042[EJLZILRAT T (JE5cm]) LEEES 57.400 m2 5,659 324,827(43.63+13.80=57.43
8014|Hm Al BT/ Awr—UHmstESsE|  104.200 m3 1,048 109,202
5372| A HiEHIEmE R (F) |#Mt- e+ : 14.000 m2 508 7.112
7058| 28 + BH0.2m3 T &b 23.500 m3 3,692 86,762
5 B 4LE8KRLELE 2,211,501
-] {f 1.0 Y 221,150
EfOAFZHEEDEE 124,546
Bl RAEEHEDEEE 83,866
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7034 [No.2 7> H— T ZEHR | EILHHEEE £F
T FNo | (B B) A 7Oy $+270v5 YERR B L
EEEXER =l 58 = Al 431 54 12
H{fiNo R H Vi) i H 8| B B ® & 1 =

7028|391 —h(21-8-25(20)(FF)) |N.2 7o h—T E@iE£8| - 153.900, m3 31,553 4,856,007
7026| B4 N27>h—T EiE{EE8| -315.710 m2 7,633] - 2,409,814(237.06+78.65=315.71

7016|855 AT -#AST Ne27>h—T Wilife%A Diemm| * 4315.680 kg 184 794,085

7018|835 AT -#AT (27> h—T ®@fEEA D13mm| °2214.000 kg 205 453,870

7020|875 AT -#HST lwzzeh—1 wiEtegE piomn| - 293.760 kg 204 59,927

560|EHIE{LE=—/LE(VU) FE#£150 D165 X t5.1mm| * 37.800 m 1,060 40,068

6177| TSR A4 RERfT TREXES 75.790 m2 2,555 193,643
7030[322')—h(18-8-40(F1F)) [M2P>h—T EEE(E 7.560]  ma3 30,803 232871 |RN—Ra91)—Fk
7042|FILZILRAT T (E5cm]) EEEES 339.700 m2 5,659 1,922,362(212.72+126.96=339.68

8014|#EHI ML/ Ay —CHHEtESE| - 1467.200 m3 1,048 1,537,626

5372| A A HEHIE B ( L -EL 75.600 m2 508 38,405

7057| L HHER BHO0.2m3 +# 3.000  m3 923 2,769

7058| B+ BH0.2m3 +# 125.600]  m3 3,692 463,715

& B A 4B R LLE 13,005,162

L] (i 1.0 &Y 240,836

BEfOANFZHEDEEE 135,366

Bl DRNEEHAEDEEE 86,698

ELED
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7035 |8 TSy iE | EAGHEEE R
1—FNo | (#&:&) AA70vY +2770v5 {E R BT
10tEE o A&l 58 = &l 431 1 m3

H ffiNo £ # - R % ¥ = B B ® % fia *

N5\ T TSy O EERE 10t (+0%) MYEEE E3 1/5.4)  BRS - 9,169 - 1,698

i WK 488K LLE : 1,698

- B i 1.0 m334L) 1,698

HEOANFBEEDEEHE 628

BlOREEHEOEEE 0

[H5%R]




B @ =
7037 [E#g 0BT ] EIGHREEE AR
1—FNo | (3&5&) AT 0w H+J70avs {ERE B3
H2ThTvo=10t EEEREL=7.9km =i | 58 =l 431 1 m3
E{fNo £ ¥ 351 s = B B £ & =
4424 ) — XA B-BhE £ -4t MBS |0.8BH JL—X 10,000m2K 7 2.000 m3 - 299 998 Era1E. BHIER 1E|
7035|4 > TS u Bk 10tEE 1.000 m3 - 1,698 1,698
B B 488K L E - 2,296
B (i 1.0 m3235Y) - 2,296
BEMOANFTEEDEEE. 834
BEfOAMEAEOREE 0

[Ha%]
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7038 Bk M (-1 EOHED) | BILEHERE £F
T No [ BB _ A7 0vY #+270v5 {ERLE {1
10cm i (EEERT) = 58 & &l __ 431 1 &
H{fiNo B 5 R i) ¥ OB OB B O | & % ;] =
6350 {318 - 10emXKis EEFXEE) 1.000 7 - 95 95 ‘
6355] 8k 10cmF (EEFES) 1.000 7. -89 -89
6360! E 1] 10cmEi EEEER) 1.000 Z: < 77 77
g BR: 483K E 261
B i . 1.0 REY 261
HBORFHEEDOEE 243
Hifi O R OEEE 0
BBE] -




_ B @ =
7042 [EJLBILBRAT T (E5cm) | EILGAE R AR
e [ BB AqJayy H+2770v4 YERL B AL
EEEXR =& 58 =& 431 100 m2
B {fiNo 2 i i % B = B B i * E i =
* 24|+ R—figtHEE{E SHIEIAFE 2.100 A 23,205 48,731
* 5 @ I SHEIAFE 6.700 A 27,825 186,428
* 1455 1EXR SHIFEIAFE 1.600 A 21,105 33,768
* 201 EEEES SHEIAFE 3.300 A 18,060 59,598
*x  4310|ELanavyy—beest i EsrCEE ) {2 £0.8-1.2m3/h(¥ 4+t F) 5.400( MRS 2,030 10,962
*  4278|EREMHELESE GEEMA) |F#st105-11.0m3/min (R{HH) 1.200 =] 15,664 18,797
*x 4201 [EEVFEERESRCEIA) T (=1 WASKVA(RR {1 ) 1.400 =] 8,817 12,344
*  2368|AtERERIEHMANE] 300kg x 148, 242(hY) 10.800 B 767 614
*x  2385|AT LA VIR RIE-2-BRE)] | KTm 18350mm 24 1.600 =] 1,650 2,640
1000|538 # & HEFEICHTIES 12.000 % 373,882 44,866
319|FH & @ 2.0(#14)#8 B 50mm 140000 m2 260 36,400
2918|1 A 2 b EEN AU 2.670 t - 21,200 56,604
3829| &) We{t+EILRILER 7.870 m3 6,880 54,146
H WK B8R LLE 565,898
B i 1.0 m23Y 5,659
BROAFHEEDEEE 3,285
BlEOABEMEOEEE 1,472
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B OB %
7043 [ZmA AU (L8 41T FOHEE) | EIGNEEE A8
I-FNo | (i) A0y Y H+J70u% YERR B a1
22cmpl E28cmAiE (BHE/E¥ER) = & 58 = Al 431 13
B {fiNo 2 G iR 1% B = B {g B & % {i& =
6353 | {RE 22cmEl E2BemEil (HEEER) 1.000 x 216 216
6358|Hk{ls 220mBlE28cmk i (EFELR) 1.000 x 131 131
6363| E 1 22cmBlb2BomER (HBIEER) 1.000 x 111 111
&t H R 4Bk ELE . 458
B i 1.0 R . 458
BEORFBEDEE 427
HilmOREREHEHDOEEE 0

ELE]




B @ =x
7044 |xeEA 0 (- 4T E9ER) | HILFHREEE £F
1-FNo | {(#&:E) AT AT HJ70vs {ERKHLfiX
28cmilE (HEEEXR) =A 58 &= &l 431 12

H {fiNo £ 5 ) 1 # B[ & & & (i & % i =
6354 | {3 28cmil b (EBEXER) 1.000 = 262 262 -

6359| £ i 28cmil.Lt (EBHEES) 1.000) =X 148 - 148

6364| E 1 28cmil t (EBEXRE) 1.000 E:3 124 124

&t BK: 4E8RLLE © 534

B i 1.0 F&Y " 534

BEfiONLTHEEDSE 498

Hifi oA OEEE 0

| =]




BE i =
7047 |7 h—H 5% -k (w) (2) | BLBNEEE 28
1-FNo | (#8:E) A2 70vY $+770v%5 {ERR B
FLAIERIA (WoyhuEEEh’ Ax KA F150.2m3) = Al 58 = Al 431 -
H{fiNo £ #h Vi % ¥ E| E & B &  EA i &
4580|7 h—2RE8 R HEM] (B  sssom. sxmnomomunxsmammons 1.000 B - 185,457 - 185,457
x 27712| & M (#) L=3.6m~4.0m fE=18cm~220m 0.250) m3 * 9,500 - 2375
1000|3 3 B HEFHEICHTIEE 5.000 % - 2,375 - 119
B ESERELE - 187,951|
H i : 1.0 BHHl) ' 187,951
HlORNEHBEOELE 168,687
BliOREEREDOEE 2,375
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B =
7050 [F5YMEA(FLH—) BIGHREES As
1—-FNo |(38:&) A T709Y $+J70v4s R BT
EEEXR T ] 58 = 431 1 m3

B {fiNo 2 a1 o (i) 0 = B B @ & % & =

8009| ¥ S REA (T H—) I Avr—CElHESR 1.000 m3 - 48940 - 48,940

2913;EFIH BB 1.0~4.002/C=100ke 21.800 L © 162 < 3,532

H WK 4E8KRELE . 52472

] if 1.0 m3%Y - 52,472

HBRORFHEEDEEE 25,573

HiFDONEEHEOEE 26,892

EEd




B i =

7052 JXEA DB (HRE- T TN | SILHHEER &5
e [ S ‘ A TAYST 77095 3o
16cmBl E22cmEih (HEEEXER) = &l 58 =&l 431 1K
B {fiNo £ 1 g % B =E| B & B {fi & & =
6352/ {1 _ |iscmplbozemb (FHEHERE) 1.000 = - 174 - 174
6357 &:HA 16embBl F22emsil (BEFED) 1.000 . - 118 - 118
6362| E 1] . - 16cmElb22cmE (BBELE) 1.000 X s 98 © 98
B MK aEs R E . 390
B fili 1.0 A& -390
BHEORETEEDSE 364
BiloREEHEOEEE | 0
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B @ =
7053 |¥robya—t RIEHE - i (F)] BILBHEZEE A8
1—+'No | (1&:#) A Javy +2720v5 {ERE B {1
N3Z7LA—T T —TNIL—iElf = 58 Bl 431 10m
| EfifiNo £ I iR i) 2 | B B ® % i x
* 24| = R —REHEETR SH3EIRFE 0.100 A - 23,205 . 2321
* 6l U I SHBEIHEE 0.400 A - 24570 . 9,828
* Q1B EFES SHEIRFE 0.400 A > 18,060 . 7,224
1000|5% # & HEFHIIHTIEE 14.000 % - 19,373 - 2712
7008|5—F oL — BB (i M) |HHH] 0.180 t - 1,885 339
5 HK 488k E - 22424
B i 1.0 mEY - 2,242
BEOREBEEDEEE 1,969
B AEEHEOSE 0
EE] 10m * 27. 67kg/m * 1/3=92.23kg * 2=184.46kg=0.18t




| B i *

7054 J¥evbdr—t RIBHBE - HE ()] BLRMEEE A
1-FNo |(i&E&) A T0vs S+J70v4 {ERLEL AT
- N.27h—T H—TILIL— 8 =4 58 = Al 431 10 m
B {fiNo 2 a1 i % ® OE| B B & #8 & =
* 24| T R —RRiHEER SMIFEIAFE 0.100 A - 23,205 - 2,321
* 6l U T SHEIABE 0.400 A . 24570 ' 9828
* 2| EEEXR SEIAHE 0.400 A - 18,060 * 1,224

1000|358 % # NEEHEIIHNTIEE 14.000 % © 19,373 - 2712
1012|5—T A oL —SElR [l i WEN2) | SR 0.180 t - 1,658 . 298
B 48R L E -~ 22383
B {i 1.0 m¥y) - 2,238
EMORNFTHEEDEEE 1,965
BlOARMEHEOEE 0

(FEZE]  10m * 27.67kg/m * 1/3=92.23kg * 2=184.46kg=0.18t
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7055 [1B% SEME | BILGNEEE A
1—F'No | (#%:&) _ AT 0AvYH H+70v% YER B
10t EHREEREL=43.6km i 58 k! 431 1 m3
H {fiNo & a3 o % B E| B & B M & %8 "
N4 F TSy BiniRE 10t (+0%) S{VIBEE BT 1/0.6] RS - 9,079 - 15132
B 48K LLE : © 15,132
B 1.0 m324Y) 15,132
BEEORNFHEEOEEE 5,653
BEOAEEAHHOEE 0
HE]

@ =3.6h/10m3 * 2.9m3/[B] * 60min/h=63, Cm=4.8 * 43.6+63=272min

Vt=60/272 * 2.9%0.9=0.6m3/h
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7056 |iERMREEAEE | BILBMEES AE
1~} No | (#&1&) A7 0v5 H+2770v4 {ERK BT
EEERR - ksl 58 kil 431 47.2 ZZm3
H{fiNo % 5 Fi % o = | B B * % fi =
25 EEXS SHEIAFE 0.270 A - 18,060 - 4,876
7061 |y h B T LLF50.45m3[0.35m3] 1 0% 3.600) BRI < 1,146 © 25,726
7013|7—F A oL —BRRIFE T WEN2] | AH 10.000 m3 3,980 - 39,800
& BR: AR ELE 70,402
B i 1.0 ZEm3ky © 1,492
BHORFBEEOEH 1,160
, HlOREEHEOEE 0
HEZE] 10m3/2.9m3%13.722m3=47.24ZEm3




BE i =

7057 [t W tE ] BILGHEEE AE
1-MNo | (HiE) A8 5 $278v9 VERE BT
BHO.2m3 +§) | Al 58 = 51l 431 1.m3
HifiNo| & FR B & ¥ =2 H E [ & %85 i =
8006|832 (JL—X) (BHO.2m3 +8) [T/ {vr— SRt ESE 1.000|  m3 . 923 . 923
H R 4E8 R LLE 923
-1 b ' 1.0 m3&yY 923
HEORFEEEDOEE 517
Bl OREEFHOEE 109]
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7058 |+ | BEHEREEE X2
I No | (BB A ATV H+2770v5 {ERL B3
BHO.2m3 + , , = 58 i 5 431 1 m3
B {fiNo 2 ;3 - 18 - - - B O B & i {# =
8006[F&3A (JL—X)(BH0.2m3 £ 8 (BT svr—CHEiHESE 4.000 m3 . 923] . ~ 3.692|2F% % 2[@]
E R 4E8KRLLE . 3692
B {f 1.0 m3&Y * 3,692
BfMORNFEEOEE 2,068

, BlioARERMEOEEE 436
HEE] _




7059 |ZRERPEERERIE BELAGHERE XE
I No | (& &) P I=E H+2770v5 {ERCEEar
EEEER = 58 Al 431 10 m
H{fiNo % 5 3 i B E| B B & B ] *
1768 3’-'LI\°*1'7°§E 48, 6mm 1=24mm L=5000mm A% 1365kg - 9.840 A - 1,920 - 18,893(49.2/5=9.84
IAVIERAC b 3 ; - - 9.200 A 775 - 7.130[4.6%2=9.2
1771|8507 NAT & b 48.6mm . 27.600 &8 > 170 - 4692
73| BHERTYS 600 * 250 ' - 20.500 4 - 2930 ' 60,065
24| £ R—AG{HEEE SHIIEIAFE -0.770 A . 23,205 - 17,868
& U I SHSEIAFE - 1.600 A © 24570 . 39,312
2| T BIELS SHISEIREE . 1.530 A .18,060 © 27,632
70067 —FN oL — BB FEa w1 ) | SE4 0.190 t - 1,885 »_3589.84+13.65+9.20%5.46=185ke]
H BFEAHSRLLE - 175,950
B {iff ' : 1.0 m#gY - 17,595
HBORGHEOEE 8,515
BHOAKEHEOEEE 6,720
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7061 [Nyot iR E BLBREEE A8
31-FNo | (#8:58) A T70vY H2770v5 e B
Fi@ | ILF50.45m3[0.35m3]ENHE 0% = 58 =%l 431 1 B
B fiNo £ 1 % ® = B I B & # i =

13 ;@S5 F (4F7%) SHISEIRFE . 0.160 A - 21,735 - 3,478
998  iH 9.200 L . 115 - 1,058
2422|/3y oo E % 111§%0.45m3[0.35m3] 1.000]  B5AS 2,610 2,610
H WK 4E8R L E 7,146
-1 {i 1.0 BFfE &Y - 7,146
BEHONFEEDOEEHE 3,478
BROAEEHEDOEEE 0
EE] #-1 .
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7062 |#4>E B {E \ AILEREEE XF
e ) A70v5 H+J70v5 {ERK . fr
EHEXE =& 58 =& 431 1m

B {flNo A b33 % B | ¥ & B & {i& =

2| BEES SH3EIAFE > 0.060 A . 18,060] - 1,084

WK A8 LLE 1,084

B 1.0 m&LY - 1,084

BElORAHBEDOEE 1,084

HEOREEHEOEEE 0

[H=]




I/ \vr— HEfitE

R R 4E8RLLE

L/ NI —> 24 Fh BEEl | BEmfm | Fﬁ%% 3-F No.
g m2 8.,496.20 7.588.00 8003|METL /\-147—-1
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